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QUESTION 1

Given the following: 

How many locks will be used on tab1 to run the query? 

A. 0 

B. 1 

C. 2 

D. Depends on the number of index pages accessed 

Correct Answer: A 

 

QUESTION 2

What is the purpose of the GRANT ADMIN privilege? 

A. Grants the admin privilege to create role separation. 

B. Grants the admin privilege to perform DBSA functions. 

C. Grants the admin privilege to use the Open Admin Tool. 

D. Grants the admin privilege to run SQL administration API commands. 

Correct Answer: D 

 

QUESTION 3

Which two statements are true? 

A. Temporary dbspaces can have different page sizes. 

B. Separate temporary dbspaces are required for each buffer pool. 

C. DBSPACETEMP dbspaces can be temporary or standard dbspaces. 
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D. If rootdbs is mirrored then all the temporary spaces must be mirrored. 

E. If DBSPACETEMP is not configured then temporary space will never be used. 

Correct Answer: AC 

 

QUESTION 4

How can you ensure to hold the an update lock until the end of a transaction when fetching rows from a cursor? 

A. Use the \\'Committed Read\\' isolation level. 

B. Use the RETAIN UPDATE LOCKS clause with isolation level. 

C. Use the \\'Cursor Stability\\' isolation level along the WITH HOLD clause. 

D. Use the SET TRANSACTION command to with SERIALIZABLE clause. 

Correct Answer: B 

 

QUESTION 5

The Rolling Window clause of the ALTER FRAGMENT MODIFY INTERVAL statement CANNOT define a purging policy
on a table that has which two attributes? (Choose two.) 

A. The table has a ROWID shadow column. 

B. The table has a Fragment By Range index. 

C. The table has a Unique Key being used by ER. 

D. The Fragment Key is defined with multiple columns. 

E. The Primary Key for the table is referenced by a foreign key constraint. 

Correct Answer: AE 
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